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28. K:=R?={(z,y)|z€R, yeR} O
(a,b) + (¢,d) = (a+ ¢, b+ d),
(a,b) - (¢,d) = (ac — bd, ad + bc)
000 +,00 -00000000000000
(i) Va,b,ce K) (a+b)+c=a+(b+¢)
(i) (30x € K) (Yae K) a+0g =0k +a
(iii) (Va € K) (o’ € K) a+d =d +a=0xg
(iv) Va,be K) a+b=b+a
(v) (Va,b,ce K) (a-b)-c=a-(b-c)
(vi) (Alg e K) (MaeK) a-lg=1g-a=a
(vii) (Va € K\ {0k}) (30" € K) a-d"=d"-a=1k
(viii) (Va,b,ce K) (a+b)-c=a-c+b-c,a-(b+c)=a-b+a-c
(ix) Va,be K) a-b=b-a
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29. 000000O0COO00OOOO0O0O0O0O0O0O000O0OO00000000000000000 Rlz]0000
I={p(z) € Rlz] | (Jq(z) € Rlz]) p(z) = (2 + 1)q(z)} (0000 2+1000000)
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0000000000, Cauchy-Riemann 000 00

30. (00 No300)0000 f:Q—COO000Ou(z,y)=Ref(z+iy), v(z,y)=Im f(z+iy) 00000

(a) f(z) =23 (2€Q:=C) (b) f(2)= 22#—1—1 (z€Q:=C\{£i}) (c) f(z) = 1 (e +e %) (z € 2:=C)

2
(00000000000 (e) 0 f(,) 000 cosz000D0OODO0ODOOOOODOOOODOOUDOOOODO)

31. (00 No3UO0)UOOOOUDOOOUODOOUCOO w,vO0OOO0uw,vO c?’0000000000o0
Ugy + Uyy =0, Vgp + 0y, =0
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32. Q0 COOO0 (00D0000O0)0f:Q—»COO0D00|f(2))000000000f(z) 00000000
00000000 (00D0:000 w00000000)

33. QD R?200000O00C'O0w:Q—=RO0OOOODODOOO
uZ:’Uy, uy:—vz

0000 »00O0OOO0OOOUOOOO0OO0OOO0OOO0O0O0OO0OOD (2000000000000 0GOOOO)
0000000000000 00000000U0O0D0)00000 O wOODOD0OOUOODOOODOODOO

34. vO R?0000000D0000D0O000 (wd C?00 uge+u,=00000)000«00000
Uy =vy,uy=—v, 0000 o 00000000090 «00000000000000000O00O000 (1), (2)
ooooo

(l)» 000000000000 0OO0 (w0 v00000O0O0O0DOOOOOOOOOO

000 (1)
1
35. (sinz) =cosz, (cosz) = —sinz, (e?) =e®, (logz) = = (z > 0), () = az®~! (z > 0), (arctanz)’ =
x
e ;uoooooooboooooo r=000000 Taylor 000000000 OO0OOODOOOOOO
x
0000 (D000)00000D0—0000o0o

(1) sinz  (2)cosz  (3)e® (4) (1+2)* (5)log(x+1) (6) arctanz (tan~lz 00O 0)

36. (0O0OOUOODOOOO)(1H)DDODODODDUOOOUOOUOUOODO (2)Cauchy 0OOODOOODOOOOOO
(00: 000000000 Cauchy 000000 DO(2)000000000O0DO0OOO0OOOODOOOOOO
0000000000000 00000000@o0@m Cauchy0M(0OD0)0000000OO0OOOOOODNO)

37. r00000000000O000O0OO00D (00000000 0O000)
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(1) im »» 00000 (2)) 00000
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